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A i Millimeter mm - 0.001
A 5y Centimeter cm 0.01
A ~f Decimeter dm 0.1
A R Meter m 1.0
A i Decameter dcm 10
N 3] Hectometer hm 100
A n Kilometer km 1,000
2 W B ¥ i
T
% B R & | | FTETPHAR
ERHAE Sq,.millimeter rn2 0.000001
BN Sq.centimeter cm? 0.0001
A AF Sq,decimeter dm? 0.01
EHAR Sq,meter m2 1.0
biSy I Sq ,decameter dem? 100
/A 73] 8q.hectometer him2 10,000
EHAR 8q . kilometer kin? 1,000,000
R —— l - PR
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NHAR Cu miliimeter mm?3 0., 000000001
YRS Gu ,centimeter cmd 0.000001
Y EAY Cu,decimeter dm3 0.001
XHFAR | Cu.meter ms 1.0
4 AHY

& Bl R & B B ETETLHA
7 R Milliliter m/| 0.001
A 4) Centiliter cl 0.01
A a Deciliter a1 0.1
2 F | iiter ! 1.0
/N 3} Decaliter dcl 10
A fa Hectoliter hi 100
A 3 Kiloliter k1 1,000
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# )R | FTETER
N % Miliigram mg 0,001
A ¥ Centigram cg 0.01
A L Pecigram dg 0.1
N 2 Cram & 1.0
A ] Decag ram deg 10
7 55 Hectogram hg 100
N Kilogram kg 1,000
n Myriagram ng 10,000
7 $H Quintal qQ 100,000
7 Ton t 1,000,000
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1 AR =29,371N
=3, 28080)
=1,0020t5
=0,0006214 %
=3 OfiR

1248 =3,280,8330
=1,093,6118%

=0,6214%

105=0,0254 AR =25 4B

1R =0.3048 "R =204.8 2400

115 =0.9144AR =914. 408
18 =1600. 44 4R =1,6093 248
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B A R| X% 4R | % H_ & R
[ B /N R | %XW| & R XN & R
1| o0.9144 | 1 0.3048 | 1 0.6254
o | 18288 | 2| o0.0% | 2 0.0508
3| o2m32 | s | o144 | 3 0.0762
4 3.6576 | 4 1.2192 | 4 0.1016
5 | as2 | 5| 15: | 5 0.1270
6 | 54864 | 6 | 1.8288 | 6 0.1524
7 | 6008 | 7 2.1336 | 7 0.1778
8 | 7.352 | 8 | 24384 | 8 0.2032
o | 8228 | 9| 2432 | 9 0.2286
10| 9144 | 10 3048 | 10 0.254

1 0.2794

12 0.3048
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1 5M=16.387IL 5 A5
=0,0163874F
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RF——ATF | RF—AF | #5— A7 | W—aR

RiTf A F |2 o RFlesa R
11 0.4085 61 2.4571 ] | 16,3305 ) 6| 98.283
2] 0.819 T 2.8666 21 12,791 7| 114.6635
S 1.2285 8 | 3.2761 3¢ 49.14156 ) 8 131.044
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